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Therefore, if he became sick, he does not pay for her food

OVERVIEW

In the initial version 701 27 concluded that (just as if the marriage time occurred on
a Sunday, he is not obligated to give her M1 [since they are to be married on
Wednesday], similarly) if he was sick by the wedding day, he is not required to
give her M. Our MdOIN reconciles our X773 with a seemingly contradictory X773,

MooIN asks:
- o9y HYN NI N2) 772 1Y (ow) 3,80 97 oV) \{711'\;‘!: 9INT PNYY 19%24Y nup

The '"1 has a difficulty; for the Xxn»12 states in Nn2° noon in P97 Po5, if the

court ruled and the 02’ ran away, she is fed from the estate of the 22 -
- M 1Y AN PN NYNT 13290N XN AN PR XD N3 SnYwira waam)

And the 2521 explains that this same law of =2 applies if the 02> became ill;
she is supported from his estate, so why is the ruling here that if he is ill he does
not feed her?! What is the difference between a 02° and an 017x?

Mmo0IN answers:
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And the >'"'1 explained that there (by a n2°), the 02> became sick or ran away

after the court ruled, so that he was already obligated to feed her -
- “yat nYan oNp NYna XoN Yan

However here (by a wedding) he became sick before the time arrived for the
wedding; therefore he was never obligated to feed her.

moon cites *"wd and disagrees with it:
- MYYINA YRWUNTI AN PRI XY 19N YAN N3 NPT POY Y9 DI0D)

" This mpo1n should precede the previous X*¥» 7"7 'own and they are both referencing the X3 on the 'K Tmy.
% The xn>2 there states that for the first three months after her (childless) husband died, the widow (who is P1p7
012°?) is fed from the estate of her husband, if after three months she took the 02 to 7"°3, saying either be 02 me,
or be 211 (so I can remarry), and the 02’ ran away, she is fed from the estate of the 02
3 9"3 "5 MAN3 (in our MW it is on 2,79).
* It appears from moon that if the time arrived (and they did not marry) and then he became sick, the husband is
obligated to feed her (even during his sickness), since he was already obligated.
> It does not say so explicitly in our *"w there. However one may infer it, for " states that the 22> must pay,
because we fine him (for running away); indicating that by 191 (where there is no cause for a fine), he would be
0D,
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And >'""2" explained there that she is 02° Yw» N1 only if he ran away, but not if
he became ill; however it does not seem that way, as indicated in the 2> —

mooIn responds to an anticipated difficulty on >"wA5:
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And according to s""w1 explanation (that by 7%1 the 02 is not M 1% 75vn),
one cannot ask from those that posed this as a query (whether or not he has to
be mm 7% nvyn, if he was 7%1); why did they not resolve this query from the

Xn>72 there, that the 02’ is required to feed her only if 712 not if 771 (even if he was 1772 T2Y),
and the same will apply here that by 7211 he is not mn 7% 779n?!

mooIn responds:

127 P02 710222 199N TI 191351 590 193 NTIIN INTIINT Y W7
For one can say that his betrothed is more attached to the groom, than the ;7729
is attached to the 02, as the X7n) states in n123% N20» in many places

SUMMARY
There is no obligation to be man 7%¥7 if the 751 happened before the 1. An 701K
1s more attached to her 017X, than a 1»2° to her 02°.

THINKING IT OVER

Mmoo explains why there is no difficulty on *"w19;® however the same answer is
seemingly due on MooIN interpretation, for the X723 there rules that if 772 1Y he
has to be mawn 7%vn if 790, indicating that if there was no 172 77297, he is MW,
thereby resolving the X°v2°X, Why did not m»d01n require the same explanation for
his interpretation (as he did for Mp)21°

% However according to maoin there is no question (as previously explained), for there he was 1"72 Tavw K> 797,
therefore he has to pay; however in our X713 the query is in a case where he was 17211 before the 1. See (however)
‘Thinking it over’.
7 The reasoning is that the 019X was w7pn his wife with the intention of marrying her (and even now she is an nwx
w'R); however by the 02> he may not intend to be 02>» her (and now she is merely a 027 P11, but not an X"X).
Therefore even if the 027 is not M 177 79vn if 79m, it is reasonable that the 017X is N 72 AovnA if 79,
¥ See footnote # 6.
? See (TXA) R"wIAR.
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